
W
p < 0.001

1

≤ 6182 > 6182

WPA
p < 0.001

2

≤ 4213 > 4213

W
p < 0.001

3

≤ 3372 > 3372

WPA
p < 0.001

4

≤ 2569> 2569

Node 5 (n = 16)

0
5000

10000
15000
20000

Node 6 (n = 13)

0
5000

10000
15000
20000

W
p = 0.002

7

≤ 4895 > 4895

WPA
p < 0.001

8

≤ 2358> 2358

Node 9 (n = 16)

0
5000

10000
15000
20000

Node 10 (n = 17)

0
5000

10000
15000
20000

WPA
p < 0.001

11

≤ 2670.5> 2670.5

Node 12 (n = 16)

0
5000

10000
15000
20000

Node 13 (n = 7)

0
5000

10000
15000
20000

W
p < 0.001

14

≤ 4917> 4917

Node 15 (n = 12)

0
5000

10000
15000
20000

Node 16 (n = 16)

0
5000

10000
15000
20000

WPA
p = 0.036

17

≤ 6712> 6712

Node 18 (n = 13)

0
5000

10000
15000
20000

Node 19 (n = 7)

0
5000

10000
15000
20000


